3114)

FRSCC_2017_SpanTV_04_Buy#3_PolCandRate_09-05To09-26

America TeVe Channel	141					
Florida Republican Ser	natorial Campaign Committee - The Felix Dive		+		-	
September 26, 2017 Ele	ection	+	-		-	
Date & Time	Program	Spots	C	ost per Spot	-	Total
September 5 (Tues)	Trogram	Spots		ost per spot	-	Total
1:00PM-2:00PM	Tardes con Fusté	1	\$	125.00	\$	125.0
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.0
8:00PM-9:00PM	SEVCEC A FONDO	1	\$	750.00	\$	750.0
10:00PM-10:30PM	NOTICIAS 41	1	\$	1,100.00	\$	
Day Total	The first to the	4	Ф	1,100.00	\$	1,100.0
September 6 (Wed)		-	-		3	2,475.0
1:00PM-2:00PM	Tardes con Fusté	1	\$	125.00	\$	125.0
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.0
8:00PM-9:00PM	SEVCEC A FONDO	1	\$	750.00	\$	
10:00PM-10:30PM	NOTICIAS 41	1	\$		-	750.0
Day Total	Noncias 41	4	Þ	1,100.00	\$	1,100.0
September 7 (Thurs)		4	-		\$	2,475.0
1:00PM-2:00PM	Tardes con Fusté	1	•	127.00	Φ.	
5:00PM-6:00PM	NOTICIAS 41	1	\$	125.00	\$	125.0
8:00PM-9:00PM	SEVCEC A FONDO	1	\$	500.00	\$	500.0
10:00PM-10:30PM	NOTICIAS 41	1	\$	750.00	\$	750.0
Day Total	TO HOLAS TI	1 4	\$	1,100.00	\$	1,100.0
September 8 (Fri)		4			\$	2,475.0
1:00PM-2:00PM	Tardes con Fusté	1	Φ.	105.00	•	107.0
5:00PM-6:00PM	NOTICIAS 41	1	\$	125.00	\$	125.0
8:00PM-9:00PM	SEVCEC A FONDO	1	\$	500.00	\$	500.0
10:00PM-10:30PM	NOTICIAS 41	1	\$	750.00	\$	750.0
Day Total	NOTICIAS 41	11	\$	1,100.00	\$	1,100.0
September 11 (Mon)		4			\$	2,475.00
4:00PM-5:00PM	Tardes con Fusté	1	d.	125.00	Φ.	127.0
5:00PM-6:00PM	NOTICIAS 41	1	\$	125.00	\$	125.00
3:00PM-9:00PM	SEVCEC A FONDO	1	\$	500.00	\$	500.0
10:00PM-10:30PM	NOTICIAS 41	1	\$	750.00	\$	750.00
Day Total	NOTICIAS 41	4	D	1,100.00	\$	1,100.00
September 12 (Tues)		4			\$	2,475.00
1:00PM-2:00PM	Tardes con Fusté	1	•	125.00	Φ.	125.0
5:00PM-6:00PM	NOTICIAS 41	1	<u>\$</u>	125.00	\$	125.00
3:00PM-9:00PM	SEVCEC A FONDO	1		500.00	\$	500.00
10:00PM-10:30PM	NOTICIAS 41	1	\$ \$	750.00	\$	750.00
Day Total	NOTICIAS 41	4	Э	1,100.00	\$	1,100.00
September 13 (Wed)		4	-		\$	2,475.00
:00PM-2:00PM	Tardes con Fusté	1	•	125.00	¢.	125.00
5:00PM-6:00PM	NOTICIAS 41	1	\$	125.00	\$	125.00
3:00PM-9:00PM	SEVCEC A FONDO	1	\$ \$	500.00	\$	500.00
0:00PM-10:30PM	NOTICIAS 41		\$	750.00	\$	750.00
Day Total	NOTICIAS 41	1 4	Þ	1,100.00	\$	1,100.00
September 14 (Thurs)		4			\$	2,475.00
:00PM-2:00PM	Tardes con Fusté	1	•	125.00	Φ.	125.00
:00PM-6:00PM	NOTICIAS 41	1	\$ \$	125.00	\$	125.00
:00PM-9:00PM	SEVCEC A FONDO	1	\$	500.00	\$	500.00
0:00PM-10:30PM	NOTICIAS 41			750.00	\$	750.00
Day Total	NOTICIAS 41	4	\$	1,100.00	\$	1,100.00
September 15 (Fri)		4			\$	2,475.00
:00PM-2:00PM	Tardes con Fusté	1	•	125.00	•	105.00
:00PM-6:00PM	NOTICIAS 41	1	\$	125.00	\$	125.00
:00PM-9:00PM	SEVCEC A FONDO	1	\$	500.00	\$	500.00
0:00PM-10:30PM	NOTICIAS 41	1	\$	750.00	\$	750.00
	NOTICIAS 41	1	\$	1,100.00	\$	1,100.00
ay Total		4			\$	2,475.00

FRSCC_2017_SpanTV_04_Buy#3_PolCandRate_09-05To09-26 •

Florida Republican Sen	atorial Campaign Committee					
September 26, 2017 Ele					-	
Date & Time Program		Spots	C	st per Spot		Total
September 18 (Mon)	riogiam	Spots		st per Spot	-	Total
4:00PM-5:00PM	Tardes con Fusté	2	\$	125.00	\$	250.00
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.00
8:00PM-9:00PM	SEVCEC A FONDO	2	\$	750.00	\$	1,500.00
10:00PM-10:30PM	NOTICIAS 41	1	\$	1,100.00	\$	1,100.00
Day Total		6	Ψ	1,100.00	\$	3,350.00
September 19 (Tues)					J	3,330.00
1:00PM-2:00PM	Tardes con Fusté	2	\$	125.00	\$	250.00
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.00
8:00PM-9:00PM	SEVCEC A FONDO	2	\$	750.00	\$	1,500.00
10:00PM-10:30PM	NOTICIAS 41	1	\$	1,100.00	\$	1,100.00
Day Total	110110110 41	6	Ф	1,100.00	\$	3,350.00
September 20 (Wed)		0			3	3,350.00
1:00PM-2:00PM	Tardes con Fusté	2	\$	125.00	\$	250.00
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.00
8:00PM-9:00PM	SEVCEC A FONDO	2	\$	750.00	\$	1,500.00
10:00PM-10:30PM	NOTICIAS 41	1	\$	1,100.00	\$	1,100.00
Day Total	TOTICIAS 41	6	Ф	1,100.00	\$	3,350.00
September 21 (Thurs)		U			J	3,350.00
1:00PM-2:00PM	Tardes con Fusté	2	\$	125.00	\$	250.00
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.00
8:00PM-9:00PM	SEVCEC A FONDO	2	\$	750.00	\$	1,500.00
10:00PM-10:30PM	NOTICIAS 41	1	\$	1,100.00	\$	1,100.00
Day Total	THE	6	Ψ	1,100.00	\$	3,350.00
September 22 (Fri)		0			Φ	3,330.00
1:00PM-2:00PM	Tardes con Fusté	1	\$	125.00	\$	125.00
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.00
8:00PM-9:00PM	SEVCEC A FONDO	1	\$	750.00	\$	750.00
10:00PM-10:30PM	NOTICIAS 41	1	\$	1,100.00	\$	1,100.00
Day Total		4	Ψ	1,100.00	\$	2,475.00
September 25 (Mon)						2,170,00
1:00PM-2:00PM	Tardes con Fusté	2	\$	125.00	\$	250.00
5:00PM-6:00PM	NOTICIAS 41	1	\$	500.00	\$	500.00
8:00PM-9:00PM	SEVCEC A FONDO	2	\$	750.00	\$	1,500.00
10:00PM-10:30PM	NOTICIAS 41	1	\$	1,100.00	\$	1,100.00
Day Total		6	-		\$	3,350.00
						-,
Totals		70			\$	41,500.00





AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable box)

☐ FEDERAL CANDIDATE

■ STATE/LOCAL CANDIDATE

To Avail Themselves Of The Lowest Unit Charge During A Political Window, Federal Candidates Must Sign The Certification On Page 3

Station and Location:	Date: 08/31/17
Channel 41 WJAN/WFUN, Miami, FL	
I, David R. Custin, DRC Consulting, Inc.	
being/on behalf of: Jose Felix Diaz c/o Florida Republican Senatoria	l Campaign Committee
a legally qualified candidate of the Republican	
political party for the office of: State Senate, District	40
in the General	
election to be held on: September 26, 2017	
do hereby request station time as follows:	

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
See	See	See	See	See	See
addendum	addendum	addendum	addendum	addendum	addendum

Attach proposed schedule with charges (if available): \$41,500 Gross; Net due = \$35,275

I represent that the payment for the above described broadcast time has been furnished by:

Florida Republican Senatorial Campaign Committee, 2640-A Mitcham Drive, Tallahassee, FL 32308

and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.

The name of the treasurer of the candidate's authorized committee is:

Abby Dupree, Treasurer

This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.

To Be Signed By Candidate or Authorized Committee

08/31/2017	David R. Custin DN: on-	signed by David R. Custin David R. Custin, o=David R. Custin and Associates, Inc., I=CustinDR@DavidRCustin.com, c=US 17.08.31 10:02:35 -04'00'					
Date	Signature						
To Be Signed By Station Representative							
Accepted	☐ Accepted in Part	☐ Rejected					
Signature	Printed Name	- Herry Executing					